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2. Whare should an object e piaced so s # 1081 404 Inveried I48%
si20 |3 obtained by s convex lans?
a) 1 g} Indinlty
c) ¥ . g} between { and 2
3. The number of camponents in s binary salution I
a) 5 b 4 g) 3 d) 2
4. Unit of radicactivity Is —— .
a) Roangon b) Cune
e} Becguersd : - d) All of the abovwe
5. C,M,OH+ 30, —+ 2C0, + 3H,0 :
a) reduction of ethanal b} combustion of athanol
¢) oxidation of ethandic acid d) oxidation of sthanol
6.  idontify the non - agueaus solutioh.
8) Sodium chicride In waler b) Glucose in walor
£) Copper sufphate in waber d) Sulphur in carbon & sulphide
T. Who Is regarded as the “Fathar of Modern Physlology™?
a) His - Atria b) Williem Harvey
c) Marl Landsteiner _ d) Edward C.Kendal
8. 'We can cut the DNA with the help of
a) Scossors _ b) Restrictlion enzymes
e] Hrife d) DNA ligases
8. Synagamy results In the formation of
8] Zoospores b) Conidia
e} Iygole d] Chiamydospores
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so Puss Komai is a dissssé resi#t® b) Rice
a) Suger cano d) Malze
11. Which ons s raferred 8% “Mastt! b) F'Itunw gland
a) Pinesl gland d) Adrenal ﬂ-v:l
€) Thyroid gland ﬂ"":". ristic Teatura of
12. The sndarch condition s . b) stem
a} oot d] Mowers
) laaves
PART - B

Note: i) Answer any 7 guestioas.

) Ouestion no: 32 is

13. a) What is audible range g{ﬂ“‘mﬂr?

14.

15.
16.

17.

18.

19.
 Mame the two maize hybrids rich in Hﬂiﬂﬁ acid lysine.

21.

—

TP

b) What Is the minimum distance needed for an echo?
Write short notes on genes.

Mention two cases in which there is no_doppler effect in sound.

What is the importance of rain water harwgsting?
Ientify the parts A, B, C. D in the given figure:

Mwhﬂﬂﬁnhnuhhmnmd?
W!Hhm:mhutdthﬂhlmdmd'*

Whal is evalution? Whao proposed the theories of evelution?

7x2 =14

. A person with myepia can see objects placed at a distance of 4 m. If he wants to

see objects at a distance of 20 m, what should be the focal length and power of the

concave lens he must wear?




PART - C
Mote: 1) Answer any 7 guestions.
mmmﬂhnm. T4 =318
g3 Differenciate Mass and Weight. ' !
24, Describe rocket propulsion.
25 m[wﬂm'ﬂﬂﬂlm‘.TH—iﬂhhﬂﬂ?ﬂﬂhmrﬂm
96. a) Whal is an alloy?
b) Give the reasons for alloying?
27. What are the uses of simple microscope?
.::\ =
98 Differentiate batween monocot feat and dicot roolL
26, Draw Ihe external structure of human heart and label the parts.
- = s
ﬁﬂ myﬁ%&;ﬂﬂmm breeding for disease resistance.
b) How does developing embryo gels its nourishment inside the mother's body?
31 What are synthetic auxins? Give axample.
32. a) Dwaw the my diagram of Imags formation in simple micrescopa? . '

b] Find the position and write its pature and size of image formed by simple
microscope?

PART - D
Note: 1. Answer all the guastions

2. Each question carries seven marks.

3. Draw the diagram wherever necessary. IzxT=121
33. a] i} Shock absorbers are used in loxury buses? Why?

ill A weight of a man is GB6 N on the swiiace of the earth. Calculate the weight
of the same person on moon. |g value of a moon is 1.625 ms?)

iil} Name the law of motion used in flying birds give another example for its same
law. (T

(OR)
b) i} Give any three difference between the sound and light waves.

i} Draw the picture of seven segment display for any one alpha number
1eriber,

DEE.5M0).



